
Two-Digit Column Addition without 
Regrouping Using Base Ten Worksheet

Example: 17 + 12 = 1. 26 + 33 =

2. 41 + 38 = 3. 55 + 10 =

4. 42 + 33 = 5. 11 + 83 =

Tens Ones

2 9

Tens Ones

Tens Ones Tens Ones

Tens Ones Tens Ones
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Two-Digit Column Addition without 
Regrouping Using Base Ten Worksheet

6. 60 + 20 = 7. 25 + 72 =

Tens Ones Tens Ones
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Tens Ones

5 9

Two-Digit Column Addition without Regrouping 
Using Base Ten Worksheet Answers

1. 26 + 33 = 2. 41 + 38 =

3. 55 + 10 = 4. 42 + 33 =

5. 11 + 83 =

Tens Ones

7 9

Tens Ones

6 5

Tens Ones

7 5

Tens Ones

9 4

6. 60 + 20 =

Tens Ones

8 0
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Two-Digit Column Addition without Regrouping 
Using Base Ten Worksheet Answers

7. 25 + 72 =

Tens Ones

9 7
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Two-Digit Column Addition without 
Regrouping Using Base Ten Worksheet

Example: 36 + 22 =

1. 47 + 31 =

2. 85 + 11 =

Tens Ones

5 8

Tens Ones

Tens Ones

T O

3 6

+ 2 2

5 8

T O

4 7

+ 3 1

T O

8 5

+ 1 1
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Two-Digit Column Addition without 
Regrouping Using Base Ten Worksheet

3. 39 + 10 =

4. 54 + 45 =

5. 28 + 41 =

Tens Ones

Tens Ones

Tens Ones

T O

3 9

+ 1 0

T O

5 4

+ 4 5

T O

2 8

+ 4 1
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Two-Digit Column Addition without 
Regrouping Using Base Ten Worksheet

6. 62 + 17 =

7. 44 + 53 =

Tens Ones

Tens Ones

T O

6 2

+ 1 7

T O

4 4

+ 5 3
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1. 47 + 31 =

2. 85 + 11 =

Tens Ones

7 8

Tens Ones

9 6

T O

4 7

+ 3 1

7 8

T O

8 5

+ 1 1

9 6

3. 39 + 10 =

Tens Ones

4 9

T O

3 9

+ 1 0

4 9
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4. 54 + 45 =

5. 28 + 41 =

Tens Ones

9 9

Tens Ones

6 9

T O

5 4

+ 4 5

9 9

T O

2 8

+ 4 1

6 9

6. 62 + 17 =

Tens Ones

7 9

T O

6 2

+ 1 7

7 9
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7. 44 + 53 =

Tens Ones

9 7

T O

4 4

+ 5 3

9 7
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